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12 BDAC B2 all correct

Ql (B1 | for at least 2 correct)
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17 B,A,D,C B2 for all correct

QZ (Bl for two or three correct)
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3 BCDA B2 cao

Q3 (B1 | for two or three correct)
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14 curve Cl sketch of graph which starts above x-axis for negative x, and makes an Condone graph “touching” the x axis.
increasing exponential rise into positive x Do not award from a graph for positive x only.
Q4 (0,1) labelled Cl for showing a label of (0,1) on the y axis Do not award if a point is given for crossing the

x-axis. Accept the coordinates shown as a label
of “1” written on the y axis at the intersection.
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5 (a) F B1 cao

QS (b) D Bl cao
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14 C,F,AH B3 for a fully correct table
Q 6 [B2 for 2 or 3 correct]
[B1 for 1 correct]






